FBHONHNIEEYS— J0FT T )V ABREBARLIERICE D <MEROMARIBRAR—

XIE - 18168 MUEBORASIRAL BF3FE1 B168IRE
BEBD %UTEBE a0 | ws | =0
=1, =+ = X\ frin)
Etb, ER% @*E ES ﬁ EQ ﬁﬁ E# {E %
(A (A)
2T Tm—)U - 600 300 -—
e 2217 B
%E 1 (51 X43m) 8 4
20m
HE2 2 1 —
- (5.13><23.29m)
s m .
RES3 (5.1X6.4m) 14 ’
s 21m .
%54 (51 X42m) 13 ’
90
| _— z= —
JIN—TF)L=EA (12.2X7 4 90 45
. 266m
| | —
TFFe3U (148X18m) 262
<"/h—=)U =
2F '
110m
Z == 7R
PIE=E 7 ax14.9m 75 38 HHERDHE
EE=EB 100m 42 21
63m
%v—‘ﬂ
HHEE 1 (81X7.8m) 39 20
56m
gr—'ﬂ
HEZ=2 (73X7.8m) 39 20
62
gr—ﬁ
=3 (11.3X55m) 33 17
3F 70m
%:—H
HE=4 (11.9X59m) 21 11
102m
| — —
JIN—=TFI)LE2 (12738 75 38
BRI A 53m 20 10
SR —=)U - 252 126 B
e 62 B
%EA (8X7.8m) 30 15 & B
" 25m B
%EB 42X58m) 8 9 & E
Ao e0m B
1F |EEZEA x5 36 18 B B
e 94
E£5=FB (125%7 5m 48 24 | 16 =] B
WP sam 37 REART
(11 7X75m)
JNOR, 60mnt
SEREA x5 39 20| 13 B 5
60
= 23mz=0 o 39 ool 13| 58| 5
,:-\Ala\'—‘ﬂ 88[’]’]2
FEE3 (1177 5m) 66 33| 22 = B
s gmss 60m
FE=24 (8X7.5m) 0 B e
100
% =
2F |ZBHN=EA (12.5x8m) 57 29 | 19 B B
84m
% =
ZBN=EB (105X8m) 48 24 | 16 B B
===l 88[’n2
REEA (11.7X7.5m) 37 191 9 & &
. 237m
REEE (12X19.7m) 150 75| 50 B B
=5 | 1EIBE - 27 14 6 [ 8 | ®

* EADBRRBEEBEENCLUET,

*30731C10. 5~10D01RE. BOAOZRM LU TBIZToTIES0,
XPTHER « ZEBNZECLEANAIFED. LEDOBHERZEICHEMUZLET,

(RBEICK > TCIRIEBENRETDHEENHVET, )

(FBBICKDEEIITODENTIIZE0, )




